SCS-H-CH EEE Jimata TOHATSU

SCS-H-SH BAAER - NMAE - RSB
(sus)

ME | RE| MBS
SGD3 | AR | "ARRREIX

SUS303 - | NAER(SUS)IZ

BmMT
M.B
FZ =" ><| -
L/2
L£0.1
1
SGD3 SUS303 AR SR 47
2 % |BE| & % |EE| MB L H D W x Yy Al M

SCSO08HO09CH| ~ - M8x0.75 9 24 26 1.5 7 4 7 M4x10

= SCSO08HO9SH| ~ M8x0.75 9 24 26 1.5 7 4 8.5 M4x10
SCS10HO09CH| ~ - M10x0.75 9 27 29 1.5 9 4 8 M4x10

= SCS10HO09SH| ~ M10x0.75 9 27 29 15 9 4 10 M4x10
SCS12H12CH| ~ - M12x1 12 30 32 15 9.5 45 9 M5x14

= SCS12H12SH| ~ M12x1 12 30 32 1.5 9.5 4.5 11 M5x14
SCS15H14CH| ~ - M15x1 14 36 39 2 12.5 5 10.5 M6x15

= SCS15H14SH| ~ M15%x1 14 36 39 2 12.5 5 12 M6X15
SCS16H14CH| ~ - M16x1 14 36 39 2 12.5 5 10.5 M6X15

= SCS16H14SH| ~ M16x1 14 36 39 2 125 5 12 M6x15
SCS20H14CH| ~ - M20x1 14 41 44 2 15 6.5 13 M6x18

= SCS20H14SH| ~ M20x1 14 41 44 2 15 6.5 15 M6x18
SCS25H14CH| ~ |SCS25H14SH| ~ M25%1.5 14 46 50 2 17 7.5 15 M6x20
SCS30H14CH| ~ |[SCS30H14SH| ~ M30x1.5 14 50 54 2 195 8.5 18 M6x20
SCS35H14CH| ~ |[SCS35H14SH| ~ M35%1.5 14 55 60 2 22 10 20 M6X25

e & % | xmi[1e[F]
SCS08HO9CH




